IMPORTANT / Wewqui

tes have to do Question Nos. 31 to 90 Either from Part—II (Mathematics ang
) Or from Part—II (Social Studies/Social Science).
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PART—III / \T—III
SOCIAL STUDIES/SOCIAL SCIENCE / ®THTeh reaaA /AT BRI

P —— —_—

Direction : Answer the following questions by selecting the correct/most appropriate
options, _

fder : Frerfafan wedl & 3w 23 % fog wd /e Iuge frees gRTl

31. Read the following statements :
A. The areas bounded by the Tropic E. nmunnﬂ and the Arctic Circle have moderate
temperatures.

R. The mid-day sun never shines overhead .w.n any latitude beyond the Tropic of Cancer.

Choose the correct option. . .
(1) Both A and R are true but R is not Em correct explanation of A.
(2) A is true but R is false.

(3) A is false but R is true. %}
(4) Both A and R are true and R is the: .m.n.nann_” explanation of A.
Fmfafad wea 91 gfeu .
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32. Which type of rural settlement is E.ummw

wﬁE
of extreme climate? nd in hilly tracts, thick forests and regions

(1) Nucleated (2) Scattered

(3) Linear (4) Compact

| yem 1 g =t ger: verd 4, T STl Tl S STerery ey & 3 a7 e 7
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33. Match List—I with List—II :

List—] List—II
(a) P waves (i) Transverse waves
(b) L waves (i) Longitudinal waves
(c) S waves (iii) Surface waves

Choose the correct option. ..
(1) (@)-(), (b)-(ii), (c)-(iii) -._.._.ﬁ._, (a)-(ii), (b)-(iii), (c)=(i)
(3) (a)-(iii), (b)-(ii), (c)-(i) ,..,..._...E_ (a)-(11i), (b)-(1), (c)-(i)
TR —1 =1 gh—11 A fram A :

n ...
= %
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St ﬁrm
(@ P () g ot
(b) L& (i) e ad
(c) S (iii) - g¥Ta @

a8 fywes =1 =34 Fif) :
(1) (a)-(i), (b)—(ii), (c)-(ii) (2) (a)-(ii), (b)~(iii), (c)-({)
3 (@) (i), (b)-(i), (c)-=(1) E (a)~(iii), (b)-(i), (c)-(ii)

T

34. Which of the following concepts can Um ;n_nﬁﬁﬁmn_ on a map in a geography class?

== —_—

_—

A. Ocean basins of the world .= B. Strait of Gibraltar
C. Delhi’s atmosphere ~ _.3D. Rainfall in the month of July
Choose the correct option. 1H

(1) B, C and D --(2)'A, B and D

(3) A, C and D “_14) A, BandC
et e B ffafiaa & & Eﬂﬂ:&ﬂﬁ@ﬁimﬂ@ﬂﬂgwq
A, o ¥ mmmla afm | B, fEwx TwEr ()
C. fagt #1 agred D. T Ae H 99

el fasheq =1 991 HiNT)

()} B,C3RD (2): A, B3R D

(3) A, C3RD (4) A, B3R C

=, 1._...

E It is made up of rocks and E_nm_.m_m EE covered by a thick layer of soil.

== = .IIJ.

(2) It is a regular surface with .E_.Eﬂm _manmnwu._m

=

(3) It provides us forests, m_.mmm_mumm _.E. grazing, land for agriculture and human

paftleental 00 o oot " TR e
(4) It is the soft crust or the soft top Fuﬁ_. of the earth.

mr_ﬂ_ﬁam@ﬁu.ﬁﬂﬁﬁﬂﬁﬂ%ﬂwm_ﬁ&ww
A1) ﬁﬂ&ﬁﬁ@ﬂ@ﬂ@ﬂwgﬂﬁﬁ&&ﬂﬂmﬂ@ﬂﬂ

RES E_ﬁmﬁﬂﬂ_@_i_mﬂﬁﬁ_ﬂm@ﬂ? |
Hﬂw 7@ 7 T, wgge = % forg TR, FY Td A afet & fore sy sem e R
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39. Read the following Statements -

A. Pittsburgh was once an important mﬁmmn city of the United States of America.
R. Iron ore was available in plenty in E:mcﬂwmr and coal came from the mines at Minnesota.

Choose the correct option.

Emagmmbnmﬁnadnaﬁw_m :E zﬁ nc_.ﬁ.nn:ﬁam:mﬂsn&m
(2) A i1s true but R is falge. |

(3) Both A and R are false.

(4) Both A and R are true and R is mﬁ nnﬁ.mnﬂ explanation of A.
frafoiiad Sl = ufeu

A Eﬁiﬁﬂﬁméﬁ%ﬁﬁwﬂ@mﬂﬂqﬂﬁ_

i %m%ﬁﬁéﬁm%ﬁﬂﬁggﬁﬂm&@%ﬁ_
el Taeq =1 994 hifsu

(1) m%miﬂﬂw%ﬂm%m%ﬂﬁ%ﬂ@@

(2) A9 2 Qfe R 30 R s

(3) A IR R 3F 3@ B
sm%miﬂﬂmﬁm&wﬂ%ﬂ@mﬂﬂ

40. Choose the correct crop based on the mmmm.nﬂmnﬂm given below :

e

A. It grows well on alluvial soil. )

B. It requires high temperature to m_d&a well.

C. It requires heavy rainfall and humid_climate.

D. Bangladesh is one of the leading producers of this crop.
(1) Jute (2) Maize

(3) Wheat (4) Rice

13 fu U HA F IUR W G FHA B A HIG :

A 701 g weilg ga1 § =81 Tl ¢

' B. I gfg % T @ 3= A9HA @ ﬂaﬁﬁ_%@

C. T 9h i qu 3R FaTy ol ATRIHT ma_w_.,
U ﬂ%ﬂﬁﬂmwgmﬁﬂim@ﬂﬂf

(1) 2
(3) T

41. Which of the follo

E HH

wing religions did E_uﬂ&ama convert to in his later life?

(1) Buddhism. Bv Bahaism
(3) Sikhism (4) Jainism
Sraforfaa § A frg ud # TS O I Sitad § emivaid & e A7
Ly e _ (2) & o
(3) fr@ wid . (4) SH W
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A. Male NUrge
13, Female farmer
Co. Male pilot

Choos
W00se the correct option,

(1) Only A (2) .J. and C
(3) Only B () A and B
PR A Q -/ sy i i ;_3, CUAVAL
R AR

B. witen R

C. 4¥ e !

HR ey w DRy _
N Em A (2) B3l C
(B) %@ B (4) A s B

5 baais of whi
43. The States in India have begun to get reorganized in the year 1956 on the b ch of

the following criteria?

(1) Administrative facility e
(2) Linguistic and cultural uniformity =
(3) Geographic similarity and resource m:mnnz::
(4) External and internal security ot |

1956 A A # ﬁﬂ&%mﬂ._.mﬂyo_ NG _._I_ﬂq__ca.mﬂ forg AR W .mm ofl?

(1) wmRsgRa W -
2] WIVTS T HIEHih T w.______.._,__.__
(3) siriferes wman wa wEeR favew N
(4) 9@ T AR Fea o %

44. Who among the following is/are associated with rural administration?
A. Ward Councillor
B. Lekhpal
C. Tehsildar
D. Patwari o
Choose the correct option. | AW
(1) A and B {(2)1A and C
(3) Only D {(4)B, C and D
Ficifad @ | S am YIEE @ JeI/98 v/80 [
A. T7m qmie [ X
B or@ure
C. TEHITRR | !
D. vz v
e fereq @1 5 A i
(1) A 3R B (2) A ¥k C
(3) %@ D .4 B, ¢ 3l D

i
-
=
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am In which of the following Systems, small ﬂ_.cnnnn_.iia_.xn_.u have more chances of getting
\a fair price for their products?

- o . -
5 E Pl T 1§

(1) Cooperative

_E Subcontracting
| (3) Outsourcing
(4) Putting out Y
. P 3 A R el 3 9 ) % et el A o IR F T I A AR A e
E BT Bt 7 ?

(1) FEwRl
(2) IU-3H &
(3) IR

—

46. Which of the following statements regarding urban livelihoods is/are true?

'I1-'|1-'II1

.

A. Sfreet vendols Jn urbguareas: do not _um, "um_mwﬁ to earn their livelihood because they are
considered as engaged in unlawful actt iy u,nmn

=

B. It is the Municipal Corporation or .Hc; Panchayat which decides on which day of
the week the market has to remain n_.umnm in urban areas.

|..|l..I-|I

l

:|'| 1
Hn W
Nir

L

C. Casual workers often have to engage in®more than one job.

TR
It 'h.

Choose the correct option.

Ei““'l:i LIHTA)
g

(1) Aand B
(2) Aand C
(3) Band C
(4) Only A

A. iﬁmﬁ%.ﬂaﬂ%&ﬂig%ﬂﬂﬁﬂﬂ@%_i.w%ﬁﬂﬁ.ﬁﬂ;wm@&w
B. ﬁ%\uﬁ&ﬂﬂﬁ%ﬂ%wﬁuﬁﬁmﬂaw@m?%ﬁ@é

C. TH: i_i_:nmﬂna&mw_ﬁ@ ﬂ?ﬁﬂi&%ﬁﬁﬂﬁﬂf

Iu.-un.....l.

ué famen 1 944 FIR) ¢
(1) AR B L
(2) AR C

(BB C

(4) e A
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gt
N1, A political party can be gald W gpini ¥ . g BLate
:,_::u_t__..t - ‘
>

(1) one-fourth of the number o1 77

. 141
n‘: more than hall of the constith
trats

AenAn 2

(3) important constituencies in a
(.a in a Btatt

(4) all the large constituencies i % % P R

,u:aaﬁﬁﬂ\l_mu 7

s wywelfive won ) wypn vt A w4
(1) 1o & wsdvark frators -2 %)
{2y v B s @ Al Crafoga - A %)
() g § wh s yeatoga - A )
3 _ﬂ! i oo a8 frata-adl #)

, ﬂ..:
a8, ﬂ__..__‘ h of the following statements En_nmhn stereotype?

Lm A parent said to her child, “Don’t nﬂw_. .ﬁﬁc are 2 b9y

¥
cities only care maacv H_au_w..b

L= o
i

L1

ut le.
B, People in the not about peo

¢ Girls should learn to cook.
D. Life in the cities is easy and mnﬁrﬁunmnmn
Choose the correct option, |
(1) Only A and C _

(2) Only A, B and C

(3) A, B, Cand D
(4) Only A and B
wxm#@ﬂmwm.mbmﬁ%ﬂmg&%aﬁm?
_A. TF AfqvmEF a7 T B T, ﬁ:_.ﬁ@mﬁ.—w.
B. 7l # @m FAd 48 F 9% § o 7 7, ﬂaﬂmﬁﬁuﬂ_
_e. @fE F A Fe e e

D. 71l f i we v o 2 59
a#1 T 71 =794 £t -
(1) F4d A AT C ﬂrrlu

(2) #ad A, B AN C
3 A, B, C#ARD
(4) #aa A 4 BY-
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f

he Identify the correct state J
Constitution : Ments aboyt the doctrine of the basic structure of the Indian

A.

The term ‘basic strue
{ ture’ is not Enumnnn.u in the Indian Constitution.

It was propound
| P ed during the Enmnﬁﬁmﬂnm Bharati Case of 1973.
: e Su
Préme .OD...MH._H H.._.m.m_ .ﬂ—..ﬂE..HUﬂ ﬂﬂﬁsﬂ&. the term nﬁumm—n mﬁaﬂgﬂﬂ
puts a __E_.chm rnn the amending power of the Parliament.

Choose the correct option. "

r.tu,u

D. The Supreme Court

-I.-Il._r

1) Onl w. C ! mnd:.w
”mw A, M C MﬂM . W '(2) Only A, C and D
an

{{14) Only A, Band D
.ﬁ%ﬁﬂuﬁﬂwﬁﬁﬁ%#@ﬂa Aﬁﬁnvwﬂﬁawﬁ%ﬂ&&ﬁmﬂﬁﬁp

A. v=REE ¢ ﬁgﬁwﬂ_xﬂaﬂwﬁmaﬁﬁﬂﬂf
_B. %qumwfmﬂﬂnﬂ&i%mﬂguﬂmﬁﬂﬂﬁ
C. I AT A T §9 ¥ ‘INuReE gtan’ wrearaeh = wionia fe 21

~D. IHM AT HHE & TN F 5 AUFR 1 Gmsg F 2|
wEl fTawew &1 53 Hifs

1) %@ B, C 3l D X2) ¥ A, C 3R D
(3) A, B, C3R D fgﬁﬁmpm%u

E

£
.-l.r.hrhh

Jl‘l
1]

I.-.
r 4

.ll.u._...

pLELRLY

3667

-.ll-.ﬂ.hl._.lum

50. Which of the following responsibilities come under the Union Government?

.l.|.||-.

Making peaceful relations with GUEFL

iTTFREy

r:““tr

e e
[E———
- =

A

B. Maintenance of jail p
C. Introduction of new trains in a State ~
D

. Census

Choose the correct option.
(1) Only A, C and D (2) Only B, C and D
(3) A, B,Cand D E Only A and C

H;I ll
Lhu

A < % w1y wifagel dEY S

oy, g
!

B. SRR & T@W@H w..nw

e Twa T 7§ Yemied! i HeeH o

D. SHTOMI Ew

w8 faen 1 =97 il Wm
(E\wﬂm?ﬁm&sv an@w_ﬂﬂm_ﬁaﬂhﬁu
(3) A, B, C 3D (4) % A 3 C
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S1. Consider the following about the role of judiciary in India :

B. Formation of new laws in country's g interest
C. Judicial review

D. Enforcing Fundamental Rights

C} Scanned with OKEN Scanner

Choose the correct option.

(1) Only B, C and D are true. - (2) Only A, C and D are true.

(3) All—A, B, C and D are true. ; (4) Only A, B and C are true.

WRE § RN 9 v $ e § Fefaia w e i

.p%?ﬁﬂﬂﬂm%%ﬁﬁﬁﬂmﬂm&&&_g
-.-_m.gﬁmﬂ%ﬂg
C. == wH s

D. Hivs SNSRI =1

el [acY T 991 SN

3 “:a ATy FEERY

(1) 5 B, C 3R D 9« &I~ W...‘E\ﬂmm C 3R D € &I

e Il'i;

(3) A, B, CRD®fi v &I %:ﬂm,p B 3R C 9 |

5y g

I.-l

- 82. ich of the following is not covered nnnn_. the Scheduled Tribes and Other Traditional
Forest Dwellers (Recognition of Forest Rights) Act, 20067?

(1) Recognizes the right to homestead, cultivable and grazing land by forest dwellers
(2) Recognizes the right to timber forest produce by forest dwellers
(3) Rights of forest dwellers include conservation of forests and biodiversity

(4) To undo the historical injustices En”__“mn_ ,wcnﬁ to forest-dwelling population

Frefafad 3§ @ FR-A1 faseq srafa S ﬁ R T (S AR W) siffem, 2006 ¥
S €T A1 87 =

(1) 99 G931 & W F JH-919 &) 5, ma%mﬂ&ﬂimﬂﬂ%ﬁﬁﬂ:ﬂg&iw
(2) mﬂﬂﬁ_&wﬂmﬂﬁmﬂ_&ﬂs@ﬂ:&nﬂﬁﬁﬂw

(3) 9 €d Sia-fafaean Guem i Fafed F aftrer 3 s 2

(4) Tl < WY g Uferfes s ) gt w
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B. uneQual access to ﬂduﬂﬂtiu
C. deprivation

D. ample opportunities for socjay devel t
opmen

Choose the correct option
(1) Only A, B and C
(2) Only A, C and D
(3) Only B, C and D
(4) A, B, Cand D
wREEe, Sed TR A Ay
A. 1= amiers fomt i efr M
_-B. e 3R Al W A IET 6 ik
C. & N AR
D. WM {ohmd < foTg etume Bt 4 ain
w8 faen 1 =9m il
1 ¥ A, B3l C
(2) ¥4 A, C R D™ A
(3) ¥ B, C 3ik DX
(4) A, B, C3R D i

F B s e

54. Read the following statements : H_“

A. Teachers of social science should use
classes. -;.

-_u...- ——

R. This approach helps children toi understand 1ntegrated nature of social science

knowledge.

Choose the correct option.
(1) Both A and R are true but R is not the correct explanation of A.
(2) A is true but R is false.

(3) Both A and R are false. |
(4) Both A and R are true and R is the cbrrect explanation of A.

frafaftad Faa1 =6t 91T =
A. mw%ﬁmﬁmmwﬁamﬁﬁmﬁmﬁWWWWmﬁm

R. %waﬁ‘lﬁmﬁﬂﬁﬁuﬁﬁuﬁaﬁmﬁmmﬁi

T4 ey 1 =994 HIeT|

(1) AaﬂtRiﬁmﬁﬁﬁmaﬁlRHﬁmﬂﬁmh
(2) AGe3 3} AfF R 918 ¢

(3) A 3R R 2H1 a9 &l
jVAWRﬁW§WAﬁRHﬁWW%I

45
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SS.

A socig] current affairs in the classroom becayge
A,
B.
C.

D,

Studies teacher should discuss the

it helps to sensitize the students aboul the issues of society/country
1t dﬂ\-ﬂlﬂpg critical thinking abilities of the students
it helps the students to relate the everyday issues with their subject topics

't provides some entertainment for the studﬂﬂtﬁ

Choose the correct option.

(1) Only B ang C | (2) A, B and D

B) A B and C " (4) Only A and B

O WG S1eaem ¥ R o) e 3 gramiis e | == S e, ®@ie
A TR TR ) e A % e wR aaeERia SR H wEEd w g
B. T ot € e faa-dath gmaed @ Rewfa ot

C. Tz it = i 38 1 o v 3 wor g 2@ 3 wEwwan @
D. & feanfifat ¥ fore 3o wiw wem &

TRl fawew w1 = iRy
(1) ¥3@ B 3R C (2 A B3RD 4
A3) A, B3R C iﬂ)%ﬁ&aﬁIB

ot

S6. Read the following statements :

& lr
TIHE

r-!r"'lui-r.

e
el

A. Concept mapping is a technique by. whlch the teacher can make the subject Mmatter
simple and easy by incorporating new:unncepts with previously learned concepts,

R. The concept map is hierarchical, it_does not show multiple relationships between
concepts. B S

Choose the correct option.
(1) Both A and R are true but R is not € correct explanation of A,
(2) A is true but R is false.
(3) Both A and R are false.

(4) Both A and R are true and R is the correct explanation of A.
F=fafaa st i gfew .

e —_—

AR, SFURON ARG TEIghtig g 2, agammaﬁ%aﬂa% RERIE IR EN .m
. :
Tél faeq #1999 Fifv = - B

(1) AR REH 99 & Af A B Ruﬁan@nqﬁa;{mm
2] A 93 ¢ A R smd R

(3) A ¥R R M 18w €
(4) A 3R R 3 9 € aq1 A 6) Rﬂﬁtwﬁ%l
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57. thzn students plm.I‘tn do a role play in a class, Sunaina refused to play the role of
Bhimrao Ambedkar’ in the Republic Day programme organized in her school, saying that

she is a girl, so she will wear a girl's dress and play the role of a girl or woman only,
The reason for her behaviour reflects

(1) gender equality
(2) caste discrimination
(3) gender stereotyping
(4) gender discrimination '
W HER T A P Rl Qe @) 6 o1 S, g A a1 Rrerrer 3 sieifr mowe faam % Frin 9
N e A i 9w TR Bn R R P ag v e ¥, saf aw v aeh F w5
el 3 O e A ohea R fivw @ Pl | 3u v a6 wron sRififia w b
(1) < e
(2) wfema NN
A3) T Ffgwre wwom
(4) T WewE

58. An inclusive social science class enrolls’ all: types of children, so it should be the duty of |
a teacher to |

A. assess what children can and cannu';t‘du
B. plan learning strategies in which allthe students participate

C. keep children’s experiences, their vmg@s and their participation in her own control

D. restrict freedom of students to choose. activities for projects and assignments

Choose the correct option. AT

(1) B and C
(2) C and D
(3) A and D
(4) A and B
@mﬁwﬁmﬁmaﬁﬁmﬁmﬁmﬁgﬁ%mjmm@m%,mﬁﬁw%mm%
A. TEH TG FO 1 = F1 R qhd ¢ S

—B. ¥t siftem R ) Ao s e @ R el w

€. 7 % g, TR ST e ST wR A T T 3 P 1 v
D. it v aw el ¥g Mt % o 2 R ol A wdm B g
w8 frs 71t
(1) B3R C E.:_j_':;
@) C a3t
(3) A3 Dy

\/(A‘)’Aa?i'{B
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S9. Which of the following is an appropriate perception when a social science teacher is engageq
In an activity in classroom?

(1) The teacher pretends to fulfill the nrdcr of her Principal/Head Teacher to promota
activity-based learning. &8 5

(2) The teacher does not know why she ia dnmg this.

(3) The teacher believes that activity- baaed learning helps children to understand the
concept. Lt

(4) The teacher does this only to cnmplete her lesson plan.

......

ﬁﬁ%ﬁﬁﬂﬁﬁ-mﬁzﬂﬁmw%m%mmﬂﬁmmmﬁ@wﬁ%ﬁwﬁ?

(1) ﬁﬁmaﬁmﬂjwﬁfﬁw%nﬁrﬁfﬁ -3y R ) FeE 39 20e H 9id FH F Ay
Hdl ¢l

 (2) Tiftrm =1 € var @ T 9 9@ | W@ R
(3)-Riftr 91 97 e § 6 nfefaf-snuiia sifiem, sraemon i wage 3§ a= il GgEa K ¢l
+4) memmwaﬁqpm%@,m%l

-
=
— e

JI i r
1!.m
It JE i

343 ositive environment for learning in the social

git ﬂq i

60. Which of the following will help in creatin
studies classroom?

] s
1

'L'H -"'F|_
'ﬂl i

I
i1

6
! {

A. Confidence in children’s ability to do #a te k assigned

= s
-
= —

LER!

B. Comparing one student or class with %annther in assessment

=
e

nif-]'

=
—
[
-—

C. Emphasis on satisfactory completion of*work

—

=,
e ]
[

u.rl

=
= =
[T

!l

D. Accepting genuine excuses for late su >mission of assigned tasks/projects

Choose the correct option.
(1) A, Cand D (2) B, Cand D
(3) A, Band D (4]ABandC

frefiea 3 & #-2 e ammmﬁﬁlm%q:muﬁémﬁmaﬂ%ﬁmﬁﬁ?
A. P FTl A F A = A gl # R |

-n.a. a_.

.v-B mﬁ@ﬁmﬁmmmﬁm%mﬂﬁmm

_C. % ¥ HEE FA WA 3
\/D. ﬁuawﬁ/qﬁqﬁmaﬁa%%ﬂﬁmw%ﬁi@ﬁﬂﬁmﬂmﬁﬁﬁmm
Té! fasweq =1 997 A
) A, C#rD @ B, C 3k D
(3) A, B#D (4) A, B3 C
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61. Which of the following can be used as primary sources (o discuss about ‘regional cultures’
of the seventeenth and eighteenth centuries?

A. Stories from the temple theatre of Kerala
B. Popular tales of Marathas

C. Dance costume of a popular Kathak dancer
D. Bhanudatta's painting ‘Rnnamunjnri'

Choose the correct option.

(1) A, Band D '(Q)nCandD

8) B, Cand D (4) A, Band C _
a1 IR IRnEdl warfeal H Hﬂuﬁﬂﬂ %wﬁﬂﬁaﬁ%ﬁnﬁmﬁﬁ?ﬂnﬂfﬁﬂmm‘m 5
|ral it e fhn s wwa 87

A. & ¥ A-TmE } Felal

_B. W@ & ArwhE M

C. Wy o Fd h Fod qAH
D. Wi < §i e wEs

T8 frew 1 =594 i
(1) A, B3RD 2 A C M D
3] B, C 3D (4) A, B3R C

62. Which of the following is an example nf+ﬂn activity that promotes critical thinking?

(1) Discussing different perspectives ﬂn a ‘ controversial topic
(2) Copying and pasting information frum the Internet

(3) Memorizing a list of important suhuect—spemﬁc concepts
thuut reading the original article

(4) Reading a summary of an article with ?
Erffad § Q FH-a1 30 TR F1 T I 8, 5 GHTATEATCAS T ) Fgrl <l ¢

/u) fel) Forarerere fama w fafira gl @ ==
(2) T @ ST i) AR T H
(3) ﬁwmm@waﬁﬁqﬁﬁmm
(4) qﬁa@aﬁqﬂﬁmﬁm@r@mmm

63. Which of the following questions prnmntes critical thinking skills?

eous rocks formed? {3 }
:;; :le irihliear 1991 recognized aﬂ mipnrtant for India and many other countries from
y 1

spective? " ”
E;m:lﬂml:ﬂf Emr;cd economy apprnach has become disaster for India.” Do you agree with
“Opting

t? Explain. |
;{he statm;e:}ngltuzes can be dratfm nn a world map keeping an interval of 1 each?

ow man 4
i zr?l o &1

Prraferfaa 3 @ - T ST T ivm T

27 '
(1) st 1 o &2 0 gt 3 fore ) W A S A7
o mam#m
(2) e Sl 1991 ¥ ﬁmmwﬁl”wmwmmﬁw%?wﬁml

e fﬁﬁaaqmmw
ﬁmﬂﬁ%ﬁ%mmrmmmﬂﬁﬁmmﬁﬁmmﬁ?
R |

o Tty
F

49 [ P.T.O.
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weher in n r:nrmlruuiivin!, clasuro

64, What should not be the task of i 16/

nt 1o shape learnery’ hehaviour

(1) Modify the classroom environmt

el iapuces

(2) Avold learners to reflect on n r themselves

rn Lo experiment and discover fo

.
(3) Provide resources to enable lenrne

. , their social world
(4) Provide opportunities to learners to explore

s o) w8 foen @) aa soff aen sty
"~ ik

| ; L . ' T :l
,\1) o W v ) wger aif fenfd % AR 'ﬁ e faan an ww

Jo"lf frenfifall =) s et w faaa #0 A afsfa e .
(3) w“ﬁﬂwﬂﬁ%ﬁmﬁmmmmmﬁmmHmmw
(4) ﬂuﬁﬂaﬁmmmmﬁﬁmmmﬁﬁﬁﬁ

65. As a creative and reflective social science teacher, which of the following would you do to

enhance and sharpen your teaching skills?
A. Self-study A
B. Follow and work with the textbook unly
C. Conduct action research e

D. Collect or create case studies

Choose the correct option.
(1) Only C and D “@2) A, B and C
(3) A,Cand D (4) Only A and B

UF G AR Ed aEhEE A9 % 9F F w1 3 Am g e Fee #2129 @ T 591 F o
F=fafEa 3 8 7= 727 '

A, 3 7954

D. %8 99534 % 9uz7 71 faaim

w7 o 7 = #ifam) Te
(1) %@ C 4 D 7A2) A, B C
YA cdnD A4) FA3 A #n B
DET-24-11 (O) 50
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66. Read the following statements -

A. The teacher needs to be v ery selects
ctiv

R. Folk music, folk dance, st
of the community

e and judicious in the selection of local content.

m Ories and riddles used by the teachers to introduce the history
A at times contain biases.

Choose the correct Option, ;
(1) Both A and R are trye but R is not the correct
(2) A 1s true but R is falge.
(3) Both A and R are false.

explanation of A.

A. ﬁﬁﬁwﬁuﬁﬂw%wﬁa@wmﬁ%ﬂﬂaaﬁﬁ SaTaEadl gl ¢

. R F% R R 0 9RE F shem 3 ’ -
R e 8wt wwmmmaﬁmm,m AHHUTY, 3

el fowey o1 994 Shifvu) 45

(1) AﬁRRﬁm%éﬁmAﬁRHﬁmqﬁmm
(2) AT g Al R 3@ ) e

=
]

i s
.
— 5

(3) A 3R R IHI 3 B &

ﬁAﬁRﬁw%WAﬁ RHE-”IEFI@TWI-‘%I

-
.

67.) Which of the fﬂllmvlng would be a better:ﬁqurce to compare the literacy rate of 8th class

pass boys and girls of a Union Tcrntury%th the literacy rate of 8th class pass boys and
girls of States? -

1R

(1) Secondary data (2) Primary and secondary data
(3) Ethnographic data (4) Primary data

Fezfd TS & 841 e UH wedl iR wefRdl fii W X Hi e, T % 8 Fa W TqSH AN
mﬁﬁmmaﬁm%mmﬁ%ﬁﬁ%mmﬁﬁ?

() fedr 3 gy o i e ot
() it s - 3) b st
68. In which step of the project method, the r;;nurces, timelines and budget for the project are
identified?
(1) Planning r[2) Execution
(3) Evaluation ' *3(4] Selection
qﬁvﬂamqqﬁa;ﬁuwﬁufaﬂﬁﬂ%ﬁnwuﬁ W - 3R s ) TEam H s X7
| Sy e T () fer
' (3) T (4) <=M
DET-24-11 (O) 51 [ “P.T.0.
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bx' 4 - ation Act, 2009 as D
69. Which of the following aspects are considered in the Right to Educ art

of evaluation procedures? in the school

. 10N nducted
A. Ensure that students attend all the examinations co i
the Indian Constitution

B. Confirm with the values enshrined 1n 118

C. Help the child to express his or her vicws freely

D. Check the homework on regular bnsiﬂ_: )

Choose the correct option.

(1) B, C and D 2) Only A and B

(8) Only B and C (4), A, B and C

R = st s, Qoogﬁﬁmﬁmﬁﬁﬁw&ﬁmwﬁﬂm%m*“ﬁmm
T RY

A, %gﬁﬁamﬁsﬁmﬁwﬂﬁﬁaﬁmﬂwﬁ&ﬂaﬁﬁw@ﬁﬁ
_B. R sy § wRwie et 6 gl w

. o B

D, fraf v 3 e A 3

(1) B, C 3R D~ | (2)-3aw A ¥R B
(3) ¥ Bk C V[;}}A, B3 C

- SR A

-9
..

A. Evaluation is a continuous process.

B. It is an integral part of classroom teaching.
C. It is done on the basis of written tests only.
D

. It is closely related to the objectives of education.

Choose the correct option. 1

____ [

(1) B, Cand D (21 ;A B and D
3) A, Cand D (4}ABandc
' ﬁnﬁf@aﬁﬁmmﬁﬁwﬂwmﬁaﬁq- "'é‘f&m%?
A I T e w R

.
ety

‘B. Tg % faw &1 w6 aifm wm ) o
L. ﬂ?%ﬂaﬁiﬁaqﬁmﬁ%aﬂuﬁmﬁmm%l
D. 7 fien % Rvat A e s d wag 2y ¢

Tet faswew &1 w99 Hifg

(I)B,CWD _ JZ‘)’A:BWD

[S}A,CWD (4) H,Baﬂ'{c
DET-24-11 (O) 52
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71. Unit tests, class tests, home :
teaching-learning fall Irum:im-wmk and questions asked to students in the classroom during

(1) Summative assessment
(2) Criterion-based assessment
(3) Assessment of lf_',-a_rning [y

(4) Formative assessment

E:ﬁﬁ;;ﬁ&?“l, e T, Tewd ﬁmaqmqqa;m Fa & ol & © T A e B fea Al A

[ -
- S TR
4 4 )
i i B
] i~}

o
=
-
o

72. Which of the following will be the best wa},;[s} to assess students’ p::ngressive growth and
achievement, and can also be used as evidence to show to parents if needed?

A. Term-end exam marks _ B Rubrics

C. Report card I}£ Portfolio

Choose the correct option.

P T i i

(1) A, Band C (2) Only D

(3) Cand D (4] Only A

e i P 5 R g S vt 3 e R e < 878, PR/

wﬁmmﬁmﬁﬂm—ﬁm.ﬂaﬂﬁ?ﬁﬁﬁ?

A. Hﬁ-aiﬁqﬂmﬁ;ﬂﬁ f B; -

c. wif-m ,B’tn—&qﬁ%ﬁf

wh Rrsreq &1 =7 L ("

(1) A, B3R C ._:(2] b
(4) T A

3R D i
o [ P.T.O.
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73. Which of the following questions assess only remember aspect of cognitive Procegg?

A. List the important projects started during the Second Five-Year Plan,

B. Write a note on curricular and cocurricular activities conducted in your schog].
C. Describe with examples on the proress. made in the field of medicine,
D

- Examine the rights given by the Indlﬂn Constitution to protect the culturg an
educational rights of minorities in Indm

E. Write the key features of Konkan lew&y-

T R
r| _..:'.—. 1y
’ 1 -

Choose the correct option, -

(™ |
o g

(1) B, C, D and E 2) Only A, C and D

3) A, Cand E

4) A, B, C and D
rRiRE 3 4 - e S v % w7 e &

; gﬂmﬁuﬂm%mmqgﬁm@q@-ﬂaﬁﬁmﬁﬁm

ranp P

L e ]

A
B
C.. st % &1 % 1 nd st 1 e e S
D

. 4(2) ¥ad A, C AR D
A3) A, CaRE

4 A, B, cal D
74, A
The Harappans were master craftsmen and possessed knowledge of metall
ctallurgy
(1) bronze a?“{‘,,:r i
3 O |
(@) brass ((#) copper a
T WA % T 2 e A e -y
L{ ) | §»§
1) Fm (#fe i
3
@) e A e (amm)
DET-24-11 (O) 54
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75. Read the following statementg &

A. The first ‘Singh Sabhas’ we
re . . :
B. The Sabhas sought tq rid Si 'fﬂrmud at Lahore in 1873 and at Amritsar in 1879,

by them as non-Sikh Khism of superstitions, caste distinctions and practices seen

arefy "V :

Choose the correct option_

(1) Bn.th A and B are false, (2] & 14 % but B is fal

(3) A is false but B ig true, (4 B ltsh :m duB ey

frrfeifad ol 1 m | wik . f.'_)" ’ S—————

g. :ij;:mmﬁq?%WWﬁlamﬂwmﬂw?gnﬁtﬁl
wmw%mm@mmammmﬁ A g O F

T foawcs 1 w9 it
(1) A ¥R B 3! e §)

I(2 : A 9 R wifv B 3/ R
(3) A IHA B A B ¥ ) )

_4) A 3R B 3 94 €

~\)In the seventeenth century,

the town of Masulipatnam was a centre of intense activity and
" it laid on the delta of the ¥ 7

river,
(1) Gﬂ_davan (2) Hugli
(3) Krishna :!j} Kaveri
mﬁmﬁ?ﬁjﬁfﬁwﬁa—ﬁamﬁnﬁﬁﬁ@wwmm% 7€) % a1 W T o)
- (@ T
S L :a(tlr i
77. Match List—I with List—II : (1]
List—I Lm{
(@) Hiranyagarbha (i) Inscnﬁl{m
(b) Prashasti (i) Ritual =
(c) Pishtaq (iii) Gateway
(d) Nastaliq (iv)] Writing style
Choose the correct option.
(1) (@)-(), (b)-(i), (c)—iv), (d)-(iii) (2) (a)-(iii), (P)=(iv), (c)-(i), (d)-(ii)
(3) (a)-(ii), (b)-(iv), (c)—(iii), (d)-(i) (4) (a)-(i), (b}=(i), (c)-(iii), (d)-(iv)
THl—1 & ge—I1 A frem il ij“;
() oo @) @ o
(b) woIfE () SEEH W
0 frn i) s CI
(d) Tafer (iv) -l
T T =1 59 Hifer| 5":'? :
(1) (a)-(), (b)-(i), (c)-(iv), (d)-(i1) a)={iii), (D)~(iv), (c)~(i), (d)-~(ii)
8) (a)-Gi), (b)-Giv), (c)-Gi), @-O (4 @), (b)-(), (o)-(ii), (d)-(iv)
DET-24-1 (O) e [ P.T.O.
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78. Which of the following dance forms

were : / ical’ forms of
India’s Independence? fecognized as classical dance afte,

(1) Bharatanatyam, Kathak, Kathakall Odissi, Kuchipudi and Manipuri

(2) Bharatanatyam, Kaﬂlakah Odissi, Bhangra Kuchipudi and Manipuri

(3) Bharatanatyam, Kathak, Bhangra, Odlssl Kuchipudi and Kathakali
_(4) Bihu, Bharatanatyam, Kathak, I{athakah, Odissi and Manipuri

Wﬁﬁmﬁﬁﬁwﬁﬁmﬁmmmﬁﬁmﬁwﬁﬁ?
(1) ¥R, Fuh, Horemed), s, yfﬁgﬁl@qﬁqﬁ
(2) T, e, s, wite, @’F‘vrg-sfmawfﬂqﬂ
(3) ey, TS, WIS, SAfSH!, YL w6 Huweh

Mﬁgmﬁm,m,mueﬂmﬁ@w

79. Consider the following statements about the Mansabdari system :

A. The term ‘Mansabdar’ referred to an~individual who

- - -

- -

L ——.
e T

B. It was a grading system used to ﬁ?_cﬂ 'ﬁ:ank, salary and military responsibilities.

held a position.

II I
Tt ol

Choose the correct option.

III-

l' Elil:L

J‘

h il

(1) Both A and B are false.
(3) A is false but B is true.

(2) A is true but B is false.
g‘“__{4] Both A and B are true.

Wﬁfaﬂaﬁn%mﬁﬁnﬁrﬁaﬁmﬁmﬁw—‘qﬂﬁq

:_'.l_. _

A. ‘TAgeER’ wmm@wﬁﬁﬂ%mﬁmm 52 %1 g fireran o)
B. uﬁ@ﬁvﬁﬂaﬁnzﬁﬁlﬂéﬁaﬂqqﬁ,ﬁmaﬂtmaﬂmﬁaﬁﬁhﬂmﬁ%m

IE
A

[Ieiin

l

i|

T faweq &1 937 i)
(1) A 3R B3 o 3 o (2) A9 AR B s 2
(3) A @ g wifew B 9 R ' jﬂfﬂ#ﬂmﬁm%t
80. What was the name of revenue syste :fﬂ; ich was introduced by Todarmal?

(1) Zabti £X42) Jagir
(3) Mansab -fh} Iqtadari
AT FR1 AT A 77 Tora-woreh 1 1 A an?
(1) e (2] SR

3w - (4) e
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31\, Consider the following statements i :
\ A. Mehrgarh was the place \ ing Mchrgarh
|I u -
\B. The bones of deer, gha here people learnt to grow rice and maize for the first time.
» SHECP and |
I"C. Mehrgarh houses wepe . Boat were also found at Mehrgarh,

uare or l‘ccl:aﬁ_gillnr in size,
(s). ot |

Choose the correct statemen

(1) B and C b

(3) Only A {(%]J'HA and C
e 3 i P et w e i ik wna B
A. WG I8 T o1 el Wi T

B. Wgure ¥ fRwoll, Vi vy wﬂzﬁqgﬁ%a:ﬁ;mm T 4
C. WeUe # W SR 3y ATAFR Y| LA

wE U /B F =9 Fifwg

(1) B 3R C A o
i g —4) A 3R B

82. By the early twentieth century, Indian women were working for reforms in

A. widow remarriage B. female suffrage C. better healthcare
Choose the correct option. . o

'
(1) Only A and C @_Onl}r B and C
B) A, B and C (4)~Only A and B
deefl 7 3 omin A @ sl ARt guncRg wm @ off
A Faven g B. wfen @R (% C. e e ghmed
a8 fawea @1 = FRi) i
(1) Fad A 3R C (2) *ad B 3R C
37 A, B 3R C qmr%ﬁa A 3R B

83. Who composed the following Marathi devotional hymn?

“You made us low caste. :
Why don’t you face that fact, Great Lgrd?

Our whole life, left-over food t_n fat. ¢ T3

You should be ashamed of this. *”P e’
(1) Karmamela ;QLMHE‘ M
(?)fCthhElﬂlElEl

{ ¥}

(3) Basavanna

R Frferfiae wardh R W ) T ;*

T fore 3R iy g Tl 7 e -
(1) HH™ @)
s L (4) <@
' 57 i [ P.T.O.
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84. Consider the following statements on ‘challenging the caste gystem’ : |
A. Raja Ram Mohan Roy translated an old Buddhist text that was critical of caste,

B. The Prarthana Samaj adhered to thc trﬂdltmn of Bhakti that believed in spmma]
equality of all castes. '

C. The Paramhans Mandali was founded in 1860 to work for the abolition of *E:-!-‘.St(f:1
Choose the correct statement(s). )
(1) B and C (2) Only B

(3) Only A (4) A and B

‘S wen 6 AR & wed  PrafiRaa <ol W fER AR

A, TS TW TER T 30 YO s e TR fRn s s sen A1 el o1

B mﬁmm%ﬁmmwmmﬁﬁmﬂmﬁtﬁﬁmwﬁmmﬁﬁmww
G mﬁutnaqaq%g 1860'31%?3@@?%#\11@9?[1

FE R /FUA| T B
(1) B3R C (2) %ﬁﬁ B
A3 Had A Vﬁj A 3R B
85. Match List—I with List—II : {
List—]

List—II
(a) Leader of Salt Satyagraha in South Indm () Veer Lakhan Nayak
(b) Organized Prabhat Pheris

(i) Subhas Chandra Bose
(c) Legendary tribal leader (iii) C. Rajagopalachari
(d) Radical nationalist (iv) Ambabai

Choose the correct option.

(1) (a)-(i), (b)-(iii), (c)-(iv), (d)-()

(@) (@), (b)-(iv), (c)-6), ()i
(@) ()-Giv), (b)), (c)-(ii), (d)~G) @) (@), (b)), (c)-Gii), (d)-Gv
g —I =1 geli—I1 ¥ frem i f

ge—I G gel—II

(a) & sy | 9% GAWE F1 A4l i E*
(b) uvTaRfEl 1 SRS R

(11) gmﬁ EERE L
(c) foreama sl e (i), Hro TMITETETA
() et oz i

a¢l fasey =1 w3 hifdrg

(1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
DET-24-11 (O)

21 (a)-(iii), (b)-(iv), (c)~(i), (d)~(ii)
(4) (a)-(i), (b)=(ii), (c)=(iii), (d)—(iv)
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g6. Which of the following were di

Manded by the Indian Natlonal Congress in (s early days?
Ndminintraon

B. Separation of the hdie

A. Indianization of the

nry from tha'o

Cexecutive
Xaminationg 1o be I;p

C. Civil Service B ;
._ “lfll in many Indlan citien

D. Purna Swaraj

| i ]
. ]

Choose the correct option.
(1) A, Band C

*(9) A, C and D
(3) B, Cand D

M} Only A and I
vl Wi HE % v Rl 3 ﬁmplmm T B il

- e olf
B. =it ® Fmim A swem wmen

C. v & % e A el dan whan sty

D. Ui &S

we! fasey =1 =@ hifdn) w

(1) A, B3R C :,{2} A C s D
@) B, C ¥R D ;;,,(4, ¥ A 3 B

87. Match List—I with List—II in the cnntnxt of List of Subjects currently in the Indian
Constitution :

List—I List—I
(a) State List (i) Taxés!
(b) Union List (ii) Education
(c) Concurrent List (iii) Health
Choose the correct option.
(1) (a)-(i), (b)-(i), (c)-(iii) (2) (a)=(ili), (b)=(i), (c)-(ii)
(3) (a)-(ii), (b)=(ii), (c)}-(i) o, o (1) (@)=(H), (b)=(l), (c)-(iii)
Waﬁmﬁa@mﬁﬁﬂmﬂ%mﬁﬁ@qﬂmnmu A frema ARy .
a1 -1 CJ1
(a) =9 (i) "‘;_-:7}'_- -;3
(b) '{:iq-;;]ﬂ i) fam 00
(©) wad g i) A

@) (-G, (b)), (0)-0h
(4) (a)=(i), (b)=(i), (c)-(iii)

(1) (@)-6i), (b)), (c)-(i
() (a)-(ii), (b)-(i), (€)=

DET-24-11 (O) d e
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88. What would happen if the earth does not rotate?

(1] There will be }ﬂnger daj.f and shorter night—

{2) There will be rapid change in seasons.

(3) Life would not have been pnssiblﬂ on the earth.
(4) There will be shorter day and longer night.

T g ol T w9 ame

(1) &3 =21 8 3w w= =i &

(2) drEg § s=Es 520 S|
A3y 5= w SiEm By 76 7 |

(4) &= o1 & i T =38 EE

.-'.. --' 3 ;
89. If a teacher wants to teach the children to read and understand the map through the map of

India, which of the following should she discuss first?

A. Direction and scale B. Geographical status of India
C. Symbol/Icon D. National symbols of India
Choose the correct option.

(1) Only C and D (2) A, Band C

(3) B, C and D (4) Only A and C

waﬁﬁ?ﬂﬁm%wﬁ%maﬁ%mm@ammammw% a 3 TEEEE
fraratad 3 9 T W == F6 9ie? , '

A T @ e :
C. VA /se 8
o7 559 =1 994 FIae]
(1) @& C 3R D

(3) B, CHR D

90. The opening time of the Central Gnvernment nﬁices in India is 9:00 a.m. IST. What will be
the local time of opening of the Central Government offices located at 77°30” east longitude
near Bengaluru and 91°15’ east longitude near Agartala, respectively?

(1) 8:40 a.m. and 9:35 a.m.
(2) 9:20 a.m. and 8:25 a.m.
(3) 8:25 a.m. and 9:20 a.m.
(4) 9:35 a.m. and 8:40 a.m. s |
mﬁWw%mﬁaﬁ%qﬁmmgﬁﬁﬂeoaﬁmT (MR HHE ) F RN AGS
% 9@ 77°30" 94 @ qdn emaai%wgmé ﬁmmﬁamm%mﬁ%@im
G 999 1 2 &) “’q?

(1) G982 ¥ 8:40 a9 941 GI& ¥ 9:35 T e s ¢
42) Fa2 F 9:20 99 TY1 R % 8:25 = - \

(3) TRF 825 TN AN G F 9:20 0~ = \ & K 5
s

“14) Ga2 % 9:35 791 991 Ga@ % 8:40 I

(1 5] [ll”'
]
I11|LL!1

-
=9
=

= ——
—

=

e
=

;',l'.il‘ |

!ql r

]

DET-24-11 (O) 60 i 9{___ B = "5 r-[if
=
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